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//Chapter5/sticky echo client/src/demo.c]j

from std import socket. *
from std import console. *
from std import sync. *
from std import time. *
from std import random. %

/ /181 B Iz 55 4% sy
let port: UIntl6 =9990

/ /18] & IR 55 445 b k-
let echoServerAddress ="127.0.0.1"

/ /5% B bRk
var quit =false

main() {
/ /101 5 R 55 4% 25 i

let echoClient =TcpSocket (echoServerAddress, port)

/ /¥ # 0] R 55 A%

echoClient.connect ()
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/R B — A AR, T s U 55 4% A 3 S
spawn {
try {
readFromEchoServer (echoClient)
} catch (exp: SocketException) {
println("Error reading data from socket:$ {exp}")
} catch (exp: Exception) {
println (exp)
}
quit =true
println("Enter to quit!")

let rand =Random ()

for (1 in 0..100) {
echoClient.write(i.toString() .toArray())
sleep(Duration.microsecond * rand.nextInt64(100))

/ /A B ) i A & % B 8] 5 IR 55 A
while (true) {
let readContent =Console.stdIn.readln() .getOrThrow()

/ /R 55 g v o B R, IR R R
if (quit) {

return
}
echoClient.write(readContent.toArray())
if (readContent =="quit") {

return

//M\ Socket B HRELHE I T BN i i
func readFromEchoServer (echoSocket: TcpSocket) {

/ /N Socket 52 BUBUHE i 28 v X
let buffer =Array<UInt8> (1024, item: 0)

while (true) {
//M socket 3EHUEL I

var readCount =echoSocket.read(buffer)

/ /BB KA e 45 A

let content =String.fromUt£f8 (buffer[0..readCount])

/ /% BRI A, I BT s
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println("S:$ {content}")

/ /AN WCR TR S A 6 A i 4

if (content =="quit") {
echoSocket.close()
return

}

Al LV F) oE B9 7 SR FE main BRECR AN T R AL .
let rand =Random ()
for (1 in 0..100) {

echoClient.write(i.toString() .toArray())
sleep(Duration.microsecond * rand.nextInt64(100))
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./main
Echo server started listening on port 9990
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//Chapter5/echo_server with crlf/src/demo.c]j

from std import socket. *
from std import console. *

main() {

/ /% 55 M W s 1
let port: UIntl6 =9990

let socketAddress =SocketAddress("0.0.0.0", port)

/ /& TcpSocket IR 55 4% Vi

let echoServer =TcpServerSocket (bindAt: socketAddress)

println("Echo server started listening on port $ {port}")

/BB — A KRR, T T2 v i
spawn {
/ /95 7€ B A Hh i 1
echoServer.bind/()
while (true) {
let echoSocket =echoServer.accept()
println("New connection accepted, remote address
is:$ {echoSocket.remoteAddress}")

/BB — A HE, T BHTH) Socket
spawn {
try {
dealWithEchoSocket (echoSocket)
} catch (err: SocketException) {
println(err.message)

[/ E R SR, R A qui t EIR R )Y
while (true) {
let readContent =Console.stdIn.readln() .getOrThrow() .trimAscii ()

/AR A quit BB AR
if (readContent =="quit") {
return
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/ /W Socket BRI M5 B socket

func dealWithEchoSocket (echoSocket: TcpSocket) {
/ITETN socket BEBUEUIR A9 2% vh X
let buffer =Array<UInt8> (1024, item: 0)

[ /BT NG X A TR

var readableCount =0

while (true) {
//M socket 3EHUEL G

var readCount =echoSocket.read(buffer[readableCount..])

/ /0 B B A B 0, T2 B X g e B, R AR
if (readCount ==0) {

return

/ /B 2 U T A

readableCount =readableCount +readCount

/ /R B S U N A B AT R A AT AT

var pos =getCRLFPos (buffer[0..readableCount])

/7R AR B T EIATAE, B0 N A i B socket, — EABHS, H BB B 44T
//5F, 985 MANZE B FRIR B2 L Socket
while (let Some (crlfPos) <-pos) {

/ /RN B e 4 Dy A ER O A 4 d R Y [ A AT

let content =String.fromUtf8 (buffer[0..crlfPos])

//H8 content B A echoSocket
writeToEchoSocketWithCRLF (echoSocket, content)

[/ R W A A qud bl G A i
if (content =="quit") ({
echoSocket.close()

return

/ /10 A AT I R Ak B A S £
let undealBytelen =readableCount —-crlfPos -2

/ /3B AL Y 1 52 4 B 5% vl DX
buffer.copyTo(buffer, crlfPos +2, 0, undealBytelen)

/AR A B 5 KON A 2 e DA 2 A

readableCount =undealBytelen
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/1R — A BB ATRF
pos =getCRLFPos (buffer[0..readableCount])

}

//TERCA buf AR R ATAFAS 1k B L B
public func getCRLFPos (buf: Array<UInt8>) {

var pos: ?Int64 =None

/7008 but WE N FEE/ANTF 2, W E R None
if (buf.size <2) {
return pos

}

//NEE 1AL BT AR

var indx =0

/ /3 7 $0 4 A e DT I 6
while (indx <buf.size -1) {
//AERN indx TR 0P A4S 76 S AT S B 44T, BRI TE L, ¥ indx BE N VAL AL E
/ /3% B A BR
if (buf[indx] ==13 && buf[indx +1] ==10) {
pos =indx
break
}

/ / BERAS VG T 3 SO 19 T — > i BT i 4

indx++

return pos

}

/ /30 content Ml ZEH#fTE A echoSocket

func writeToEchoSocketWithCRLF (echoSocket: TcpSocket, content: String) {
println("$ {echoSocket.remoteAddress}:$ {content}")
let contentCrlf =content +"\r\n"
echoSocket.write(contentCrlf.toArray())

}

MR 5 v Ab B Socket 4G UL & 10 2 PR 2K dealWithEchoSocket, % bR U HE M Socket 3£
B B A AE AE 2% vp X buffer W, 885 M buffer FPF R 2 48 [0 E #4745, R E R T, 58
B P25 115 2K g L 5 DU Bk A E B8 L BRI Socket 52 BRI
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//Chapter5/echo _client with crlf/src/demo.c]j

from
from
from
from
from

std import socket. *
std import console. *
std import sync. *
std import time. *
std import random. *

/ /181 Iz 55 4% Sy H
let port: UIntl6 =9990

/ /18 3 iz 55 #% Hh bk
let echoServerAddress ="127.0.0.1"

/ /5 IR AR R
var quit =false

main() {

/ /181 . I 55 i %5 i

let echoClient =TcpSocket (echoServerAddress, port)

/ /T T R IR 55 s

echoClient.connect ()

/

VIR B — AR, T B BUIR 55 4% B B

spawn {

try {
readFromEchoServer (echoClient)
} catch (exp: SocketException) {
println("Error reading data from socket:$ {exp}")
} catch (exp: Exception) ({
println(exp)
}
quit =true
println("Enter to quit!")

let rand =Random()

for (1 in 0..100) {

writeToEchoSocketWithCRLF (echoClient, i.toString())
sleep(Duration.microsecond * rand.nextInt64(100))

/ /TR ER IR A AT K B [ R 55 A

while (true) {

let readContent =Console.stdIn.readln() .getOrThrow() .trimAscii (



